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Examples of Exam Questions

Please, choose one answer and circle the appropriate letter: (one point for each correct answer)

1)
A
B.
o
D.

International conference interpreting is
an early example of *a global transaction’.

an early example of *a global frustration’.

an early example of *a global communication’.
an early example of *a global profession’.

2) The most appropriate interpreting of ‘452 +/ ja sl sl Loy o ol dhionss Sl 18 0200 el 2 i

i jhea’ i

A The teacher went on to say: ‘He was a happy man, never seen him return with zero hands’

A, The teacher went on to say: “He was a good man, never seen him giving in to despair refurning with yellow

B.

hands*
The teacher went on to say: “He was a happy man. T had never seen him giving in to despair when he returned
empiv-handed’.

The teacher went on to say: “He was a happy man. I've never seen him giving up hope as he refurns home with
thing in his hands’.

Examples of Exam Questions continue

3) The English word ‘interpreter’ is derived from

the Akkadian term “targumanu’,
the French term ‘entrepreneur’
the Latin term ‘interpres’

2O

the English term ‘express’.

4) The most appropriate interpreting of ‘1 graduated with a literatore degree in the mid-19180s" is
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Examples of Exam Questions continue

3) Consecutive inferpreting is

closely related to speaking skills.

closely related to listening skills.
closely related to note-taking skills.
Closely related to public speaking skills.

oowp

6) The most appropriate interpreting of * gaa¥ d2ie Lo Cla 30U Juad*

A. The professor said: What do vou have to hear?

B. The teacher said: ‘give me what you have to listen to’
C. The teacher said: ‘say what you have’.

D. The teacher said: ‘speak, I am listening’
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Examples of Exam Questions continue

7) When taking notes, the interpreter tends to use
A. mainly ‘symbol-based system.

B. mainly ‘science-based system’

C. mainly ‘translation-based system’.

D. mainly ‘interpreting-based system’.

8) The most appropriateinterpreting of ‘I knew nothing about the Arabic culture before

I came to Al-Hasa and I really fell in love with it’.
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Examples of Exam Questions continue

9) The type of problem the interpreter may encounter include
A. objectivity, honesty, svstematicness and speed.
B. equality, balancing, ethics, quality
C. remembering, recalling, producing and presenting.

D. Simultaneity, memory, quality and stress.

10) The most appropriate interpreting of "Many Muslms pilsrimage here, so if you are

looking for a place to visit, come and visit the Kaaba a oreat time for the family” 15
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